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10. Let A

= {1 2, 3} and B = {a,b} two non-empty sets and

f : A - B beafunction defined as f = {(1,a),(2,b),(3,b)}.

then which of the following statement is true?

fis into only < Jei,~f (D) fis bijective — 2 (1f (C)

Q2. Write short answers of the following questions.
| . Write the following set in set builder notation: {1,4,9,16,25,36,...,484}

Il . Write the following set in tabular form: {x/x € N A x+4 = 0}
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Q1. Choose the correct answer. 1X10=10 -u’!iu}u,;....m:.duumﬁ;g. 1Ay
k The set builder form of the set {1,%,%,%,...}& "—HJ"E‘L“I""J 1, X %,%,}q :
x| x=2n+1,n€wW} D) | . “ " _ 1 “ ( _1 )
| x|x =——n€W} (© {x|x=——new| @ (x|x =rnew| ®
2. IfA={}, then P(A) is: < /P(A)I{}=AS1 2
¢ (D) {3 © 1} (B) {} (A)
3.1f1U={1,2,3,4,5}, A={1,2,3} and B ={3,4,5}, then JxB= {3,4,5}#A={1,2,3}-U={1 ,2,3,4,5}/ﬁl 3
U-(ANB)s: «4:U-(ANB)
(12,3} (D) {1,345} (C) {2,3} (B) {1245} (A)
4. If Aand B are overlapping sets, then n(A — B) is equal to: 414N (A - B);uﬂ,:__,ﬁ/vBﬂpAﬁ 4
n(A)—n(ANB) (D) ANB (C) n(B) (B) n(A) (A)
5.fAc Band B—A # ¢, then n(B — A) is equal to: «4:n(B—A)»B—A#psAC B/ 5
n(B)-n(A) (D) n(A) (C) n(B) (B) 0 (A)
. fn(AUB)=50,n(A)= 30 and n(B)=35.then n(ANB)= :<..n(ANB)»n(B)=35+n(AUB)=50,n(A)= 30 .6
40 (D) 9 (C) 15 (B) 23 (A)
FA = {1,2,3,4} and B = {x,y,Z} then Cartesian product of A and fJfﬁuVyﬁiyiBmAq;ﬁB = {x!yiz}ﬂuA = {1 !213,4}ﬁ A
B contains exactly ..... elements: S,
6 (D) 10 (C) 12 (B) 13 (A)
- 1f F(x) = x% —3x+ 2. then the value of f (@ + 1) is equal to: «=idf(a +1)9f(x)=x*—3x+2 -8
a’a (D) a’+2a+1 (C) a’+1 (B) a+1 (A)
9. Given that f(x)=3x+ 1. if f(x)= 28, then the value of x is: :L_,;,J},bf';.‘fﬁ;ﬁf(x) = Qgﬁf(x) =3x+1u/ S/} .9
18 (D) 3 (C) 27 (B) 9 (A)

JELif : A > Buurerde B ={a,b}»A={1,2,3}/1 10
L"U:"fr,‘:-btt).j@ﬂ;f= {(1 ,G),(z,b),(3,b)}-ﬁ__bfgd_l§6)u’l:(u">{_
Ce okl

fis surjective <+ -f (B) fis injective < »£2uif (A)

2X10=20 ..,u‘/r j Y /E? Ly, 2/'; Jir

(484,..,1,4.9.16,25 36} 27 Lt -er 54 Lt . |
IxIx EN Ax+4=0yva émdtits
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Il . Write two proper subset of the following set: {a,b,c}
IV . Write two proper subset of the following set: Z

V. ForA={1,2 3,4}, find the following relation in A. State the domain and
range of the following relation: {(x, y) ‘ y+ x=5}

VI . Is the following diagram represent the functions and of which type?
(image)

VIL. If g(x) = 3x + 2 then find: g(0)

VIl . Write the following setin tabular forms: {x | x =2n, n € N}

IX". Write the following set in tabular forms: {x ‘ XEQAX=—X}

X . Write the following set in tabular forms: {x | x € R A x £ Q}

Q3. Write detailed answers of the following questions.

1. Let, U={x : x is an integer and 0 < x < 150}.
G={x:x = 2" for integer m and 0 <m < 12} and
H={x: x is a square}-FindGU H

2. Llet, U={x: x is an integer and 0 < x < 150}.
G={x:x = 2" for integer m and 0 <m < 12} and
H={x: x is a square}-FindGNH
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{(x,y) | y+ x=5}
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9(0)- L/ Litning(x)=3x+2/ . VI

(x| x=2n, n € Ny & bguastses VIl
i | x € QAx=—xp s puad bt . X
(x | XERNX & QY i pguan it . X

9X2=10 S f M2l Lty f3 000 3 A iy
U={x:xIs an integer and 0 < x < 150}//// .1
#G={x:x = 2™ for integer m and 0 <m <12}
L/ GUHH={x: x is a square}
«U={x:xis an integer and 0 < x <150}/ .2
AG={x:x = 2" for integer m and 0 <m <12}
J/t*GNHH={x: x is a square}
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